A4 2REAELUIEGY ERRGFTAE

- “ERES
(-) B3

FAHGERE S 876 § 9,658 ¢ -

() R+ F @™ A #3275 9530 £ =t -
(2) =WHF 637759 -

S BRELRED
("‘ ) XIE—FE%“‘“P

© AT PR A Bt 2,584 3 .

2~ ¢higp #zt 106 3 5,388 ¢ o

3~ b A=x3t228 7,005 A = o

4~ 8% X x3-121 7 6,126 4 =x -
(=) WERZ R ™ 52

EP P K BB X #* A%
P LS ST E R 2 A 1,204 200 1,608
LRe T ETFERS & 7,093 1,047 7,246
TR RS A 2,585 457 3,970
v 2AERT A 5,213 675 5,649
S HE e 3,974 551 4,385
FRTERE 2,328 303 10,605
A B TER D A 2,279 225 1,964
= PRI ES
(= ) PRFFZL3*
55 113 # 6 ¥
55 B AR 1,097 i
% PR Ix FORLE & % st 6,505 £ =%
Bz el kvt (f ) 2 H/41 A =
¥ B IEIR TS FIF WE G (F ) 39 F
BN R A GCED) 12 i
B A FARGE AT E AR PR (K g )Y H- 196 * =
oA A EEE (A ) 5 3-/131 4 =

BELEY Eix




37 | 113 & 6 *
e TEWE 2 3123 * =
TETRED a‘éi@ 132 < %
W 13120 4 =
FRFHS v FFRAT 2 Br/42 A =
EER 1 3/17 * =
3R 1 3/367 * =
AR )-& 5 WA 1 3-/40 * =
Y AR 6 3/65 + =

(=) #&FY 9 w2y
MR TR 6

iE
TR

MY AP () P (2

WA Lk E (FEHAE)AFE(AFAE) 2 L% (F
%%Iv\%) ’f\T’P\/PH ¥ (i«p“v\ﬁf:) 113 # 6 * :I‘ﬁ’“l o BB % Ti‘é}’k

25 A~ At HE 306 A PEIE AR k5| AT 4p B S 65 53
B £ 0926 4 =X Hde o
e~ R EH
(- ) t#al4aR 5 Kyt
1y 113% 6 % }_%v‘éﬁ’iﬁg&
FHID =0 FEA X
e 77 8,733
BT 147 225,026
pray 146 2,075
W EH 247 3,124
53 7 169
Y Fr 284 6,234
#2¢ 168 1,800
ERRPrES 70 6,128
S L 66 955
v 269 9,417
&3 1,481 263,611
() FE23R
%ﬂﬁﬂéigﬁfr’@ ’ﬁ‘lf%—ﬁﬁfq% A i?/@(’z@/r’%
AEitdeko113 26 " 52 23 BiEddcd 8,164 p H 2 2652



-
1

i+

(

) AignFapn
AEER I SR L S R

¢

1N

ERIRTE A R AAD R~ LI

A Ao #1113 & 6 0 R > ApE G 1728 £ 06
Y PR RC L 1§ 6,160 | pF o

CTRES
(=) Py EH%
1~ 3 s B #ic

KR o i 113 # 6 *
P A A 485,495
NT R R 2,148
Uk o2 uR 837
R A AR 1,608,250
TIFREL BN iR 11,920
IR+ BT 4 3,143
23T IR A 12,301
iz Bk 1,615

2~ 7w iRead app & T =t #cx 3+ 56 § 4,358 =t (i0S3:*+33 7 2,371
= ~ Android 3+ 23 § 1,987 =x ) -

(=) B3z 70 & o
R BATH L FTH 154 i =3
(Z) 3 4p8 754 705 i o

3
oy
B

(’“ é' éﬁﬁﬁa%@/éﬁ?
L dapp s dd e TR s R 0 5 13 3 1
A Gde o
2 RAERT TR RE R TR AT AR > X 153
113 % = %4e o
RS S ST BRI E LS & 5 R
80 % =t %+4c o
4 s B WL ERFH2HBTREE LT 2T KRS S



5B 0 £ 13533696 4 = f4r o

NP et S 3

() it 5 BRARTIRTE

£ 653 341,190

& :’( 2‘&4‘: o

2

1~ BFpEpiE ? SRR ¢ g2 8R4
TR 348 pﬁoﬂ%wvﬁ “TE AR PR TR
+ # R
RS 1,337
“EHE AR 21 VOD 968
3L BErRYIER 13,480

2~ T F T4 R

13 1,909 £ AR5

3~ EZmovie 8 ;xi# * 694 =x o

SRR ¥
(=) HERU3=p FFEVR
(=) 7832 113 & p 304245 o

o

%F,”‘\ #i o



